| number of missing inner layers

[ number of missing outer layers |

1e - - - —| Entries 53596 1e —| Entries 53596
;—I_'_ + | Mean 0.3913 E + | Mean 1.546
r . . . Std Dev 0.527 N Std Dev 1.845
Y R A e — - Y e ‘e - I
107 v *TEnuies 53229 107 *TEnties 53229
F : : Mean 0.3911 F : Mean 1.544
L N H Std Dev 0.527 L . |.Std Dev 1.851
2L ... : R S tei..fi..oi.l.. 2 e eeiiiiitiiiiiii..
10 3 : : : Entries 10 3 i [Entries 53154
F Mean F ' Mean 1.545
B Std Dev B . |Std Dev 1.848
10°F ) R S T S e 1073 e g e e R ]
o : Entries 5 o : : Entries 53167
r . 0.3905 r . . Mean 1.546
4 . 0.5269 4 . . |Std Dev 1.85
107°E R (O R i SRS e 1
F + | Entries 53192 F : :+ | Entries 53192
L . Mean 0.391 L . . Mean 1.546
-5 . . . . Std Dev 0.5271 . . Std Dev 1.85
QO P e bl Ecccrrrreee B I bl
E I E : : |
F Entries 53162 F : Entries 53162
I : : : Mean 0.3905 I : Mean 1.547
01959,"""""""" 1 I I W PO I O | PRI B DTN R, |
© H H
o H H
0.95 . . . . . . . . . . .
0 05 115 2 25 3 35 4 45 5 15 20 25
——— - o)
—— —p
= peM-p
mean hif === %g ]
—— D
20r 4= Entries 53596
L 10 = Mean 11.16
18F o Std Dev 6.277

<hits> vs n

Ratio

16
14
12F
10F

0.95

=3

-2 -1 0 1

Ratio

track n
[ N of simulated tracks vs pT |

Entries 133002

Mean 2.164

Std Dev 6.079

: |

Entries 133002

Mean 2.164

Std Dev 6.079

: |

Entries 133002

ean 2.164

S ev 6.079

133002

2.164

6.079

- |

Entries 133002

Mean 2.164

Std Dev 6.079

| I

Entries 133002

Mean 2.164

Stlec—1 11 pigad
0.95 T * * * 2 3
10 1 10 10 10

2

3

TP p

o

Ratio

10

=
|

iy
TTTT] T

Entries

53167
11.16
6.265

53192

11.15

6.267

: [Entries 53162

Mean 11.15

sanders 1 Ly gpgd

4

5 10 15 20 25

30 35 40
track hits

Ratio

- Entries 58191
: Mean 0.5529
1 . Std Dev 0.7652
10 &y T T 1
: Entries 57817
: : Mean 0.5535
2| e ' ___________ ._ ______ Std Dev 0.763
10 ; : . 1
: Entries 57693
. Mean 0.5546
1072 . TS Std Dev 0.7776
E Entries
N Mean
10—4 .......... e . | Std Dev
: : e IO
n
1O St Dev
C . Entries
B | Mean 0.5545
10081— + TS F A vt I
F. AR T L R
I g : |l
0.95F+-f--+-nne- peendt PO 1 N PEEERY P ESPPRPRRPPPR
9 C I " T I
= 3
0™ 1 10 10° 10
track p_



	Contents
	Page 1


